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n=
SESUINE =0y 52 NEED
o £l = e

ASAFEE RIEXIA 3,000,000
EENAHAIHE 2ILEXIA 5,000,000
IFEAFEE RIEXIA 550,000
KIS THAASE 2OLIEXIA 400,000

SIXIA 61,975,000 61,975,000
S AP & IR A 5,000,000
SUAMHEC SIXIA 1,000,000
SE AL SOXIA 22,540,000
IIEHHEAIE S ROLIOEXIAI 6,000,000
IR =3I leIONE =) 65,723,000 65,723,000 NEALEES XS 65,723,000

747,448,000 747,448,000

== 812,968,000 812,968,000

=g 812,968,000 812,968,000
I 1,872,000 1,872,200 HEE 1,872,200

Nt 1,872,000 1,872,200

HEEY 1,872,000 1,872,200

JE e 1,872,000 1,872,200
M 2Edl 372,383,000 372,383,000 HEH 2HI(EZ3) 372,383,000
et & X3 AS I 36,241,000 36,241,000 TS XA 22| 36,241,000
LA E 22| 259,882,000
HARRAMH EH 2| 256,203,000

e 22 At I 2,624,939,000 2,624,939,000
HOIEAY 23| 190,419,000
JIEHHE AL S 23| 383,230,000
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119,279,000
127,929,000
125,765,000
AZHRIAFSE & 22 42,540,000
a2 2 Al 2,624,939,000 2,624,939,000 0
149,942,000
129,002,000
246,228,000
594,520,000
=X EOE 4,400,000 4,400,000 0 4,400,000
THY 36,086,000 36,086,000 0 36,086,000
KHE Atedl 2tel At 0 14,631,000 14,631,000 & 14,631,000
=HRAEX3 3,074,049,000 3,088,680,000 14,631,000
RS Fals] 15,642,000 15,642,000 0|- stAlE QI X 711,000x 2%¥x 11&= 15,642,000
DZ2LH9 BEXA S 0 2,400,000 2,400,000 |- ASAl Z2LH9 SAXAZ 2,400,000
NE=wlr= 6,000,000 6,000,000 0- H&3(z+ 6,000,000
B2X3 21,642,000 24,042,000 2,400,000
2x3Z+4 3,095,691,000 3,112,722,000 17,031,000
2Xr3Z+ 3,095,691,000 3,112,722,000 17,031,000
HXEZ=AZ 1,500,000 2,200,000 700,000 = 2,200,000
1,500,000 2,200,000 700,000
S+ 1,500,000 2,200,000 700,000
S3=+Y 1,500,000 2,200,000 700,000
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o Of ot o 2240 ko4 =2 sEad
= &t = M=

MEZolE2 (=82 6,127,000 6, 126,589 -411|- BoEYR(2R2) EE 082 4,886,205

gg)&m%a(é 6, 127,000 6., 126,589 411

oga 285,800,000 285,799, 178 822

JEE 285,800,000 285,799, 178 -822
sz 400,000 400,000 0|- ez w2 400,000

=2y 400,000 400,000 0
S22 0|K=¢) 10,000
HEI 2| 0ITH4Y 60,508

JIEHOI 20l R4 ) 480,000 480,622 622
AR HIZ0I T4 401,167
IAFFETIBIALS! Ol KHA ) 8,947

g A 0IAES 480,000 480,622 622
JIEbE A 10,000,000 10,000,000 0]- JtAZHERIRAIY 2013 oj2t 0,000,000

JIEtE A Y 10,000,000 10,000,000 0

z4ol 10,880,000 10,880,622 622

magl 10,880,000 10,880,622 622

HelH 4,208,711,000 4,226,442,000 17,731,000

. 12283
4,751,000% 102+ 4,777,000 2= 57,064,000
22143

e 255,357,000 256,659,000 1,302,000
3,575,000X 73+ 3,662,000X 5&= 43,335,000
4= 8% 39,536,000
2,465,000X 4&= 9,860,000
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SEJUPNED =0y 52 NEED
B £l = =
2,465,000X 11&+ 2,561,000X 1E= 29,676,000
6= 2,119,000X 12&X 29¥= 50,856,000
5%
2,062,000 83+ 2,119,000 4E= 24,972,000
=g 255,357,000 256,659,000 1,302,000
45
2,004,000X 62+ 2,062,000X 1&= 14,086,000
1S(tiMer) 1,915,000 8= 15,320,000
1S(Ate22lAt) 1,915,000 6&= 11,490,000
=0 255,357,000 256,659,000 1,302,000
=g 880,000
20,000X 3EX 12&= 720,000
20,000X 1€X 82= 160,000
HESIHI 26,766,000
M= 57,129,000 62,938,000 5,809,000
el =g 200,000 12&= 2,400,000
HZ A 100,000X 8EX 12&= 9,600,000
=g 18,792,000
2R 4,500,000
==& 57,129,000 62,938,000 5,809,000
EA3 EXAE S 26,074,000 26,633,000 559,000 Y3 26,633,000
_%IXIJ al _%IXI
a2 26,074,000 26,633,000 559,000
AMEIE g3 31,861,000 32,720,000 859,000 BERLY3 32,720,000
M3 EE 31,861,000 32,720,000 859,000
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4,400,000 4,400,000 0
JIEt =&Y 4,400,000 4,400,000 0
374,821,000 383,350,000 8,529,000
80,000x 12&=
223 1,960,000 1,960,000 0
22 1,960,000 1,960,000 0
2geds 84,000X 4&|= 336,000
736,000 736,000 0
QIALRI &3] 40,000X103/= 400,000
32l 736,000 736,000 0
AR = 2,696,000 2,696,000 0
1,120,000 1,876,000 756,000
(]l 1,120,000 1,876,000 756,000
176,000X 120H&= 2,112,000
SIEEI dE 127,600X 120H&= 1,531,200
23,900 12JH&=
650,000 12JH&= 7,800,000
+=EHl & =2 16,500,000 18,770,000 2,270,000
50,000 12)H&=
50,000 12JHE=
ool 242
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ZH0IX 22l (S01X) 264,000
ool ST (O 27,500
g Qa2 1,000,000
SOI0ISN &2 123,200
H3tx A 100, 000
~gH L 442 16,500,000 2.270,000| 14. Crololal e 400,000
CE/YE M 100,000
CHIIEAMElI 130,000
. 2sEHIIH 200,000
RPN ST )L N A 800, 000
. K& M2 354,300

28l = == 16,500,000 2,270,000
. SAIDEA 1,000X 12J0&= 12,000
RSP 90,000X 12IH&= 1,080,000
A3 10,000X 12I0&= 120,000
zze=2 3,426,000 0|4 maig2 96,000X 124 2= 1,152,000
JEYRS 44,000k 12048= 528,000
UtnALE S 11,000 129H== 132,000
Aot ER3 67,000 6IH&= 402,000

znoa 3,426,000 0
B AEEEy 145,000

ENE 5,884,000 0
A MHEE 10,000X 8¥= 80,000
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SEJVPAR =0 o =2 aE2 A
= & = N=

2HE ZSEE(FMS 386,000
SHAHE 3| 400,000 12&= 4,800,000
MAS o= 5,884,000 5,884,000 0 NPAE=E=Il] 30,000X 12&= 360,000
HOlZSEF2A 63,000
A2 WA SIS 50,000

HA202 5,884,000 5,884,000 0
JIEr2 | 2,000,000 2,000,000 0l1. JIEr2 I 2,000,000

et 2,000,000 2,000,000 0

29| 28,930,000 31,956,000 3,026,000

AL H] 406,447,000 418,002,000 11,555,000
HIE 72l 3,200,000

Xt AHE SH 18,000,000 21,200,000 3,200,000
X 18,000,000X 1CH= 18,000,000

XHokE S| 18,000,000 21,200,000 3,200,000
A& EH S X 1,000,000 1,000,000 0|1. AEAREST| 1,000,000

A& = S X HI 1,000,000 1,000,000 0

NEEE| 19,000,000 22,200,000 3,200,000

THAFZE A | 19,000,000 22,200,000 3,200,000
O A ol24d] 330,239,200

o121 350,751,000 350,751,000 0
AZIEEZ 20,511,800
WAL 4,202,000
RS 32,479,000 32,479,000 0|2. daztsiAe 1,100,000
OH(WSIHE) 5,040,000
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gxola | E0la s2
2 &t = =
s2Hassz 1.584,000
2223 2,520,000
32,479,000 32,479,000 ! 2,633,000
XHEH| 2,400,000
JIEtE2gH| 13,000, 000
CH ALOA CF

i[g ﬂHl SAEd 383,230,000 383,230,000
Z0AF Q14| 105,725,200

01 112,316,000 112,316,000
AslEEE 6,590,800
DAY 1,337,000
AU AIS 350,000
HHI(REIIE) 360,000
SEH| YL 944,000

15,613,000 15,613,000
S22 120,000
. HAsS2 1,862,000
. RHEH| 1,500,000
. JlEr2 g 9,140,000

NS AR THAL

LSS EA 127,929,000 127,929,000
BOIX 0121k 191,300,960

202,875,000 202,875,000
N === 11,574,040
WA 2,101,000
57,007,000 57,007,000 o1 2421 31 Af 2! 550,000
22H| L2 1,104,000
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X 0| AFH = AH s
e & = =

2203 5,112,000
HAZS23 1,140,000

57,007,000 57,007,000
JIEtE4H] 13,400,000
PSE=oNel byl 33,600,000

OF OF ALOA CF AL OY

e A EAE 259,882,000 259,882,000
A o1 A 103,740, 160

011 110,295,000 110,295,000
ANSIEE 2 6,554,840
DAY 1,146,000
o422 BIAL 300,000
HHI(REIIE) 360,000
SEZH| LSS 960,000

8,984,000 8,984,000
222 3,000,000
HAZ2=2 518,000
NE=ds] 1,500,000
. JIEF2 G| 1,200,000

£+ ol ct

%@ﬂl’m”ﬂ = 119,279,000 119,279,000
0121 129,402,000 129,402,000 BOIX OIHHI 51,350x 702x 362= 129,402,000
mEYSE 4,000,000
+=EHIY =& 2,224,000
59,017,000 59,017,000 383 1,116,000
HAZ22=2 2,262,000
JIEtE2g| 9,415,000
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gxolat | zZolao s2 TP
=2 &t =
Ar ] 59,017,000 59,017,000 . mgrolz oly) 40,000,000
OF=3 X H =24 SFAF (o]
gseFasay 2,000,000 2,000,000 reEREesEanE
1,000,000x 2&21= 2,000,000
AOT=AI0IAE 190, 419,000 190, 419,000
=g aciPalsl| 36, 166,720
o124 | 38,238,000 38,238,000
. AIBIEEE 2,071,280
. =X 764,000
| IABAR 200,000
. olbl(RE3HE) 1,440,000
At 4,302,000 4,302,000 L agHY 442 834,000
. S3R3 384,000
B IERE! 281,000
. JIEt2gH| 339,000
o IS A 42,540,000 42,540,000
. o124H| 33,288,000
2o 2,286, 000X 128= 27,432,000
SR AMBIEHE 448,00 128= 5,376,000
pIESe 480,000
RHore 36,241,000 36,241,000
. a3l 2,953,000
FESHI 100,000X 12&= 1,200,000
SEH| 50,000% 12&= 600,000
A=A 500,000
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gxolat | zZolao s2 TP
= 2 s e
-MEHEY BIIS 300,000
RHAFS A K| 2 AL 36,241,000 36,241,000 0
THAE AL F ] 353,000
A 36,241,000 36,241,000 0
1. Fgszed 627,000
2. & SdLsIIE 1,200,000
3. DELHoY 2,409,000
NESVLPNE 13,116,000 13,516,000 400,000
4. NHEAEXIE &9l 5,000% 13X 123]= 780,000
5. XIS3A-0 2 DB 5= S 2,500,000
6. I2IIZ(DSHIXIY)  400,000X 15%= 6,000,000
1. AANFEH| 6,434,000
- HENF(Q) 300,000X 8%= 2,400,000
- MEWS(W) 500,000
- AMYAANE 75,000X 43l= 300,000
- HERUE 20,000 8¥= 160,000
- B2n= 28,000X 8%= 224,000
91012 2 5 ALY 11,875,000 12,807,000 932,000 | - m2zr&oi4 {50,000 132i= 1,950,000
T EES
&5/ 650,000 124 + B0l 250,000€ 1%= 900,000
2. AFEEI3Q| 1,062,000
- 2"}t 8,000 8YX 33/= 192,000
(XF)12,000X 132X 33l= 468,000
- A& EIt 8,000 8YX 13l= 64,000
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S 0fl At F=Z 0| At s MEIZA
=

(XH)26,000X 13HEX 13/= 338,000

3. AIgHERAT&H(39) 265,000
- B A 30,000X 8YX 13l= 240,000
- Al XE3F 2l 5,000X 59X 13]= 25,000
4. HI|HHEIA 5,000X 13¥X 23]= 130,000
5. soteles 20,000X 13X 33l= 780,000

6. LIERIA Al 3,136,000
- A& FU3 250,000
- SEHAACEHI 850,000
2l 11,875,000 12,807,000 932,000 |- EAESAS 260,000
- 3l (s22A2A) 300,000 1¥= 300,000
- Yolgi4= (x| D242 X) 500,000X 1= 500,000
- HolHS A 330,000
- AANELE 150,000X 3¥= 450,000
- AFEUHIERKIIAEIL 196,000

7. RNASIANGE(FH0IE) 1,000,000
- 39| 50,000x 63]= 300,000
- 820 500,000
- HIL3 200,000
15,642,000 15,642,000 0|- StAIE QA X1 711,000x 2%x 11€= 15,642,000

40,633,000 41,965,000 1,332,000
63,390,000 63,390,000 0[1. 2u=sAr o121y 57,897,000
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201 11,700 70AI2IX 52X 128= 49,140,000
CEEDE 49,140,000X 1/12= 4,095,000
MNElRE2 388,500% 122= 4,662,000
. 29 5,493,000
2Z A 100,000
=E<PIIET= 30,000X 58X 28l= 300,000
SN0 28 +48 400,000
ABERAS Wy 20,000X 128= 240,000
o2l 23 40,000 122= 480,000
63,390,000 63,390,000 oIgx el 10,000X 128l= 120,000
AT E/ AR S 361,000
ERSnE 300,000 28l= 600,000
HZ DS 200,000 28l= 400,000
=L 4,000 8X 118l= 352,000
EBIEEESE! 30,000 8X 13l= 240,000
S 200,000 5= 1,000,000
AARIHS 100,000
2227 (YXI0H 200,000
g 2 Z el 50,000X 123]= 600,000
63,390,000 63,390,000
ESLHALS HES 50,000,000
2312 755,631,000 755,631,000
ESLHOAISES 01BS 14,103,664
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SHE Ol &+ 220 52 WEES
2 & = e

- EEAHAMSE SIXIAM 5,000,000
- JIEHHEMSE SIHXIA 6,000,000
- 20213 420| 2IMl g2 14,139,256
- ARFMIAFE S SOEXIAI 85,744
- KIS THAHALEE SILILXIA 400,000
SO MY R 76,115,000 76,115,000 0~ BHSAIZE SILILXIA 5,000,000
— MMARRAFAEE 2IIILXI A 1,000,000
- ASMSEE SIXIAM 3,000,000
- SEAMSE 2IHXIAM 22,540,000
- SYAMSE SOLXIA 1,000,000
- SLAMSE SIXIAM 17,400,000

1. AFEE eI 15,600,000
- AMEEHHEZNH 500,000X 10JH2~= 5,000,000
- MEHEA &4 500, 000X 102l= 5,000,000
- HEAME 22X 1,000,000X 23]= 2,000,000
- S0 F2 =eiEM 30,000X 120%= 3,600,000

IR =3Il ONE = 57,001,000 57,001,000 0f2. BAX SXIXI& 9,700,000
- g eldEI= 9,400,000
- YA SXEIE BA 300,000

3. 2SN 25,400,000
- gz XA 7,800,000
- 338= 3,600,000
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X 0| AFH = AH s dEZHA
o] 5 = e
2z9) 11,000,000
TEEHET YD 57,001,000 57,001,000 e e 3.000 000
JIEtEYH] 6,301,000
gﬂég%a“@ 888,747,000 888,747,000
NEBIHEED 10,000,000 10,000,000 JIATIRIAIY HIE EED 10,000,000
gﬁim'ﬁg” 10,000,000 10,000,000
Z0AF Q14| 104,773,200
0I121H] 111,305,000 111,305,000
AslEEE 6,531,800
DAY 1,337,000
A2 SIA 350,000
SEZH| LSS 804,000
AFELHI 14,460,000 14,460,000
222 765,000
HAZ2=2 504,000
JIEtE2g]| 10,700,000
al%“g EAE 125,765,000 125,765,000
O 01 224,514,000
0I121H| 238,435,000 238,435,000
AslEEE 13,921,000
mEYSE 2,865,000
A2 SIA 750,000
=T 17,768,000 17,768,000 oibl(BE31S) 360,000
>2H|Y =2 1,248,000
S22 690,000
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DSV =i, 1,155,000
A 17,768,000 17,768,000
. JIEt2E] 10,700,000
H
Qol 256,203,000 256,203,000
jlkala] 203,146,800
Q1A 215,890,000 215,890,000
MIEE = 12,743,200
W= 2,483,000
HSUSALS 650,000
+=EHIY =5 1,920,000
30,338,000 30,338,000 3322 900,000
MAS=S 4,645,000
L] 9,600,000
JIEt2EHI 10,140,000
HHES AR EHALY
HI 246,228,000 246,228,000
HO XA el2d| 105,725,200
oA 112,316,000 112,316,000
M EE =S 6,590,800
WEAMS 1,337,000
ASUSALS 350,000
oEl(WSEIIE) 360,000
16,686,000 16,686,000 S=EHH 2 1,644,000
3223 1,118,000
. MASZ 2= 1,817,000
. AHE| 1,800,000
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16,686,000 16,686,000 0ls. JlEr2 2 8,260,000
é 129,002,000 129,002,000 0
ZOAF 2124] 119,740,800
127,130,000 127,130,000 0
ANSIEE = 7,389,200
mE=FSk=ilal| 1,528,000
A 2USIAIE 400,000
2=ZH|Y &2 1,014,000
22,812,000 22,812,000 0
22032 1,440,000
BNENE 650,000
. JIEF2gH| 17,780,000
‘Eﬁg’ SEAE 149,942,000 149,942,000 0
Z A o124H] 514,892,800
0121 546,211,000 546,211,000 0
ANSIEE =S 31,318,200
WA 5,730,000
A22ASAISA 1,500,000
PPN 4,700,000
A 48,309,000 48,309,000 0|4 HAZIZ 3,379,000
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